sy Gl bhe = (s . ooty + 90184 55769 POTHSTOSM

0zg 4 JWICLLTTXE  roseN

Joy Bhoth = 0047 & 4

o sy booa © F b1g+ 4 0avy « pwibpy e Phoen
o 2say) A4

e 4 A2 K %@&Qﬁ ) IO MOU W]

s3y S1s ano 30ae 1M ST T, "31qe) drportad ano uo paseq swvic T JARY [[IA SSBUI JR[OWT

bl E&m%e N @@“ﬁ m@%&?ﬁw { = OTH d
e 20% = 01T e

‘s1ied s3 4O |{e Jo yS[om pauiquod
Y3 S! 1Yy3iam s,3n38j0W Jy1 pue 4ay1980] Puog SWole ayy ‘syun m_sc:& 40 53|n2B|OL L1404 SWIOYe LSYM

SNAd T ENRd R FL =N BN

¢SIUBLIBID BUIMO]|0J AU} 4O(*"8JOW BUO JO SSBLU) SSBW JBJOW BY] ST 1BYM

°[qe}

Jlpoliad ay3 uo nc:o% :mf §1 SSELWU JB|OW $ 3USWS[2 9y ‘SWOIE jO 3|oul ! Alostoaad uteuod [im
swess ul (nwe) _ Aue jo ajdwes y

o
pregap 0 = w90 Yswpn, a0GTd T ged Qo T

¢Wnisaugew Jo sWole 0T X §Z'T S| WNISsuSew JO S3joW AUBW MOH ‘84n1iuin)
uapJes pue |00} ‘s|aaYMm 3|IGOWOINE ‘YRIIIIE JO SINJIBINUEBW BY3 Ul PASN (233w 1YSH| e S WnisauSe b

P " G ax
#t agix Lip = M S w&
=HN  BIUOWWE JO S3OW 7' Ul w‘_mf ale :mmo._??_ 1O swoje >cmc._ MOH ‘€
DIt Y
(il v G,

%sm of X MM?@ = O SWEr T %ﬁ?ﬁ%%mmmws G P
iapixolp cofmu D,6 mm_oE 00"/ Ui Juasaud aie uadAX0 Jo swiole Auew MOH 7

i A et

w o s L0/ X 10f ¢ o Foey X wm% Gl X709 ¥ P,

?Ouu nmv_xo_n uogsea +o mm_oE 00°Z Ui 1udsa.id 4. uogJed JO swole Auew MoH 'T

B )
aor] T _wbmwwm x @%%&& ' w éswioje SULRIU0D €QD JO S|ON §'T
%wm i g “ X \vm / ncwm>x0 JO swole %wmﬁm,& ﬁ_mw <7 suiejuco o)) JOBION T
Em_ﬁé %hm%% Mﬁw:wb P M.Mwwfk ﬁm&m%@..@% \MMS\N OCOQ‘_MQ .%O suole Q%k Wﬁwsmw SUIRIOD NOU u_.O ®_0§ 1
¢+ ’ (SWOle uogJaed Jo sa|ow m SUIBIUQD S2NIB|I0W CQD JOBIOIN T

§swiole uaBAxo jo sajow ﬂ SUIBIUOD T JO djoW T

L , dSWOEe JO SRIOW ~ §7 SUIBIUOD S3|NJB|OW Z0OD) JO 3j0W T
ésandsjow ﬁﬁ F7.0'9 SUIRIUOD $3|NJJJOW 20D JO B|ON T

m_o_meu

"SWOTE J0 S3|NoajowW 3| S3|211ed Jo sisquinu Inoge Sulyjel
U3YM J01IB} UDISIBAUOD B SB JBQINU SIY1 8SN Ued apn ‘sajaiued asoyy Jo saped
aAlzeIUSSAIdDl JO @@m% g su1elu0d 3dURISYNS AU 4O

p

‘pues8 y qf uszopy
101 JE[IUIS

COE
‘20UBISqNS B JO T N[OV 2U3 SULINSEIW 0] 03 ASHULSYD ut 3run jueiioduwt £19A B §1 [0

QUS W OISR NI ND
SR €6 EERITI BEIAGIRS
110N H N

SHIDULINT IR ABINSENTS




Grams-Moles- Not

Griven mgss, czloulgting mol

Example 1: Convert a mass of 1.5 g of calcium carbonate to an amount in moles.

A = o, 015 md
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Example 2: Convert a reacting amount of 84.6 mol of sodium sulfate into mass in grams,
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1. Determine the mumber of representative particles in each of the following.

A. 0.250 mol silver _}\mﬂm 9Cmid % D %&%ﬁﬁ%ﬂ%u YIS, J"
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D. 0.425 mol N, _
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@' 2. Determine the number of moles in each of the following.

A.3.25 x 10% atoms Pb f . RE AR et .
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B. 4.25 x 107 mol NO2 to molecules NO; _ & 428x0 " el

C. 8.95 x 102 molecules CCli tomol CCLy | & N % @gw,w& _ @. :%
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D. 5.90 mol Ca to atoms Ca 880l GDR;

@4 . A. How many atoms are in 6.2 moles of aluminum? | zfew s & v i xd vu‘.w

B. Convert 5.3 x 10*° molecules of CQ, to moles. 5 2%/ Py
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C. How many formula units of sodium acetate are in 0.87 moles of sodium acetate?
R i F

o p i o L, \ B o 1 - .m\nw@ .
#porbides » OB vel X G020 Vel B 5S4 AT frm wnits

D. Convert 3.00 moles As»S; to grams.
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